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o 248 WEA kA BEAAL £ (sin’rz) =02 F2ITZE (0,1) 0 o=
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P4<X<8) +P(Y> 8):% P0<Z<2)
0.3413
9% 0.4332
o plZ O
= \—"1*]721 ELH, P(YSS ?)‘o’] %l—e 0.4772
QBE REAFEERE o E3te] 77 0.4938
227 [44]
@ 0.8351 @ 0.8413
@ 0.9772 ® 0.9938
Ca= min] ¥ 523
[EEL EA] dA=x
(Ho|x) 3/5
SO A HEZ3I5H0 LIEHLH
PA4<X<8)+P(Y=28)
=P(478 <7< 878)+P(Zz 8—m
3 3 o
=P(—£s Z< 0)+P(Zz 8_m)
3 o
= (0 <7< é)4—P(Zz §—m ):l
3 o 2
P(z=0)=—Loma E-m_ 4o
2 o 3
3
J—G*Z
P(Yg 8+2—J)
3
[y 2o )
1
:P(YS 12——m)
2
127%771
=Pl Z<
6—im
4
=P(z<2)

5+P(0 < Z<2)=0.9772

e
rr

Ho

Ao et HaHeS B

g

Ol2lo] 250 gtelf AR=

SIYEIIE0 ASLCL
g 2 BRI PFSELIC



2021845 THal4 431 4% 24 H8UE)

by. a=ZE(0|AF)
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fl@)=
g} sak g

g(@)=2* / O / _"t?f(t)dr

(:1:+ 1)(:1:— ].)({II_(l)

b oA st Fghe 2R skt o9 HUghe? [(43]
Q22 g3 ®3f ®Vv6 ©242

(T D7 W)

[45H|] 0| J2Hm, HAE

(HO|E) 4/5

229} oj2o] Al o|5t0]

"(z)=2 xtdt—I—Q —z? =2 tht

g () x/ F0)dt + 22 f(x)— 22 () / £0)

st g(2)7h 92 BLto] %ﬁt% PE

g'(z) o §57} o Bt HOt BERO{OF BHICH

h = ‘ t)dt _ﬁ

(z) fof() 5t

B (z)= f(z)=(z+1)(z—1)(z—a) 0|22

s hlo)s z=—1, s=aOllA| 2472 21, 2= 10]A]

z=allM SgtE 7L

00A CHHA! g/ (z)=2xh(2z)E 2° S Q%2
H20IME ¢ (z) o] Bt HFYZR| 4&LICE

LSt

£S5k h(0)
JIABE2 =09

o]}
h(a) = /0 F@)do
/‘a(:r?’*a:nQ*era)dx

0
|14 1 5 1, ¢
—[4x 3ax 210 +ax .
_ 1oy 1,
= 12a +2a
*%aQ(—aQ-ﬁ-G)

0|, ¢ =00/ 22
hMa)>0 & —a*+6 >
a>10|22 2H9 =A

0,
Q
= il
1<a< V60|12, a9l Z[ciZte

3 Ct.
£ h(0)=00|22 0|5 0|&3t04 &4 h(x)ol S
Jdef3 tEt €sU
Ya
y = h(z)
1o/ i
: 1 «a x
91 20l HHA h(x)=02 ¢ <~ 1010 HEA| B IHo)
23S 7R, O] 225 z=act ofH
r=a2| RN ¢'(z)2 BF7} H3IEE &4 gla)=
A0l et AAE2 ot=EuSIFYEIIE0 ASUCH
2 =Me g2lA 54 029 &0 ol AR=22 2g 2 BRI IHsELL




202131E CHBI4SHS NI (48 4% 24 U ()
by. JZZE(0|YF)

— Problem #21

21. &9 {a,}& 0<q, <10]x, ZE A5 nol| dise]

b a,, =a,x<a, +1
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